
7 H�s on C: 1 alcohol

not consistent: 



this structure more
consistent with data

22



all H�s on Carbons
213(s) = ketone
note symmetry of 2 Me groups

11 H�s on C-- 1 alcohol
no unsaturated functional groups--ring
2 symmetrical carbons



if this were the structure, would expect

this is more consistent

the above chemical shifts
are for the closest structures
from tables in your book.  



  ,

expect chemical shifts of
8, 35, 46, 16, 14 (see below)

numbers
from book:



aldehyde, 205(d)

73(t)

all H�s on C

1 H not on C: alcohol

consistent
with 3-identical
methyl groups



one H not on C: alcohol
FG = 1,2-disubstituted alkene
69(d) = CH of alcohol (see below)



all H�s on carbon: must be an ether, no symmetry

this one would be
symmetrical

7166

For this we would expect the Me-group
at ~58 ppm: this is not observed

205 (d) = aldehyde
no symmetry

2 H�s not on C: 2 alcohols

1 H not on C: 1 alcohol
symmetry: 2 carbons are identical
no unsaturated functional groups: we
have a ring.  
67(t) = CH2 connected to alcohol



only 7 H�s on C: must be alcohol
146 and 110 = alkene
67 = CH2 next to alcohol

all H�s on carbon: must be ether
59(q) = Me–O
73(t) = –CH2–O

only 11 H�s on C: must be alcohol
67(d) = –CH–OH






